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Answer the Following Questions:

Questions ( 1: 6 ) : Choose the proper answer:

Al Al e cal
Ly sl s (6 1) Al
Aaanal)

rg

e
[ |

]
[ [ |
The membrane of the muscle fiber ™
returns to its polarization with the

help of ...

(A Sodium
Cholinesterase

@ Lactic acid
@ Acetylcholine

G Alanl) 3adl) sLie 3 gay —1

The number of pollen grains that E=

produced from the division of three
spore mother cells is

@ 6
® 9
© 12
@ 15

Z\_J.J e gt yn LA &I eués;\
csh s a )l dlie B

6

9

12
15

Achilles tendon connects the
gastrocnemius muscle with
bone.

@ Tibia
Fibula
@ Heel

@ Phalanges

Ayl 50 Alimall sl 5y -3




The Symptoms of cretinism and
myxedema arise as a result of

deficiency of hormone
(A Adrenaline

Thyroxin
@ Parathormone
@ Progesterone

e Ladll U"\J‘:i Lo —4

CrS gl
Osey oLl

Or9 i g yal)

Cells that acts as a link between the "gi
humoral immunity and cellular
immunity

Jio g AHlaS Jaas 3l DAY -5
elial g Lhlal) delidl oy
. 4 lal)

[="6.
[ |

Insulin and Hemoglobin genes are
located on the chromosome

@8
® 9
© 11
© «

G Ol i) (¢S5 a2 -6




Each of restriction enzyme and '==

ligase enzyme has an important role
to get recombinant plasmid.
Explain through an experiment

carried out by one of the researcher

this role (without drawing.

md oe U8 Ay -7
Dsx bl el
slo dpanll pee
Al e 32k
Lalasyd
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Lol D Ge (o
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=m0 Give an example for the 550 Ve Laef -9
. - Aa s 921
endospermic seed?

(13 — 10) 4y
Al ¢ JSal Laadl
Examine opposite diagram, L) - i
then answer the questions 3 oo e

Questions (10 — 13):

=='10. What is the name of the process

that represented by this diagram¢




What are the steps of the
formation of the structure that

shown in the diagram?

What will happen to the nucleus '==

c?

8 ill sy 1ile - 12
¢C

Ol il Ak W-13
¢B




Questions (14— 19) : : (19 —14) O Abiad)
Write the scientific term for each of the following elad) pethiaal) i)
statements: 5S 4o g5 3

< obad) e 8yl
s Ay

Rings made up of DNA molecule o il - 14

wound around the histones. C een
e > Sl (e
Js= DNA

U ghigll

- 3 ya dalie -
Small round bone located in front F s 15
of the knee joint. alal &3 i

AL Jinie

The ability of the egg to develop to ™g=
a new individual without being .
fertilized by a male gamete in

animal.

Two systems under which the '==
immune system is working in
cooperation and coordination




Plant support depends on osmosis '==

phenomenon.

s dlea- 18
soallall o adia

) 5yl

Liquid gas is used in preserving the '==

vitality of plant tissues until
planting.




Questions (20— 23) : (23 — 20) O AL

- ”»

Underline the odd word that does not fit with the rest dalsl) ciag Uad &2
of words: pa—ud®  AY
B —

Calalst

- liaas) - 20

osh Ay g — Ly

Archegonia - Antheridia—ovum — "g&
gametophyte — spores - zygospore .
S B

JSEY) — sl - 21

Budding - conjugations - m aaill — g & Al gl —
parthenogenesis - regeneration - L s
binary fission e

— didall adee - 22
cind = ol siae¥) adge

Peptidyl site - amino acyl site - "=
large ribosomal subunit - Anti .
codon — 5oxSl agisn N Baag

Muscle fiber - Muscular system -  ™ga
Nervous system - Semi-lighted area
— Light band.




(28 — 24 ) o i)
PO S Aduligg Glsa SY)

Questions (24— 28):

Mention the site and function of each of the
following:

WDall - 24
| =='24. Suppressor T-cells. Aafidll 4, liall

The site The function
Sl gl Sl

| =='25. The transverse links

The site The function
S EEN]




Fzﬁ.

. Insulin hormone

ﬁl

The site
Ol

The function
Akl

le

The foramen magnum

The site
Ol

The function
b

Fz&

Glucagon hormone

The site
S

The function
agls 5l




Questions (29— 34):

Give reason for each of the following:

1(34 = 29 ) ¢ Adiud)
Pl W e

Jualiddl — 29
Jaai 4550 24 30

am 30,
N

m-RNA is extracted from the
pancreatic cells and red blood
cells.

M-RNA z ja%w — 30
il S 5 ol Sl DA (e

May be difficult to distinguish
para- thyroid glands, and may
be removed during a surgical

operations in the neck.

ﬁj :\T\.EJJJ\ Jl; 22l
cilplenl) ¢ S Ll ) 25
Al 5 Al al)




Some plants kill their tissues
that infected by microbes

am a8 — 32
Leiaun) iy entalal)
il ySaally Aliadll

The corpus luteum is considered '==
as temporarily gland

pundl Jldie) (Say — 33

:\:\3};\ ;LA.).A RS )Smiy\

The position of one strand of
DNA is opposite to the other

a5 b 055 DNA
Qi) day 3l jSles




Questions (35— 36): :(36 — 35 ) (e Adiu)
A s s )
DNA Ly yé Jo 4500
PRET

If the sequence of the triple codons on one strand of DNA
as the following:

TACTTTAGAGCGTTTACT...3'

m- ol il - 35

Write down the sequence of the “am (e & suiadl RNA
nitrogenous bases in mMRNA AL L ok
strand which transcribed from it - Gl By

t\ﬁj 2e WL —36

How many types of t-RNA H &V t-RNA @by s
molecules that participate in the
translation of these amino acids?

¢ Ayl (alaaYl




Questions (37— 39): 139 =37 ) oo Adia)
il Laa JS om 08

Compare between each of the following

"6‘)5\..«;}\@?.{:).\:\5\' 37

. . . . [ T7] . . .
Budding in yeast and budding in - byl b ac il
sponges \

Specific immmunity and non-
specific immunity in man

3 ydEll lige 4 — 39
The hormones of the adrenal m Sl g Al g ya
Cortex and the hormones of the v ..
adrenal medulla that affect the o2 Gle S
metabolism of carbohydrate




:(45 — 40 ) o ALY

Questions ( 40— 45): Al @ jlad) Al s

Rewrite the following statements correctly after
changing the underlined words

The first codon on DNA strand that ™gm
follow the promotor directly is .
CCA.

‘ =='41. The blood sugar level in a normal

person is 50-60 mg / 100 cm?.

60 —50 (xuhl
2 100 / o saalle

=="42,  The largest number of bony o N e

vertebrae is located in the sacral o
region. A paall A




Chorion membrane containing fluid '==
serves to protect the embryo
against shocks and dryness

The flower of the tulip plant is
solitary axial.

Phenols formation is one of the
means of structural immunity in
the plant

<Y gndll &5 —45
by saa)
A 5 Aelad




:(49 - 46 ) Cpa ALY
JS Ao JIal aamd) casf

Questions ( 46— 49):

Write the number representing each of the

following: st Laa

3 ganll eli'u: 2e - 46

The number of bones in the
human vertebral column.

The number of Adrenal glands
in the human body.

The number of floating ribs in

322l a4 guad 22e - 49

The number of lobes in the 48 )
human thyroid gland.




Questions ( 50— 54):

Study the opposite the figure answer the following:

Mention the number and name
of the following structures:-

:(54—50)@&3’\
cal Jilial Jal DA o
t il b e

) Al anilg By 83

- 4y

Cells that protect and nourish
sperm inside the testis.

e Jasi DA -50
il guall a5 Ales
Al Jals 4, gidl

Cells produced as the result of
Mitotic division.

=5 s -51

Cells produced as the result of
the 1% meiotic division.




Fsa

Cells that produced without
division.

=5 LDIa -53

wm 54,

What is the chromosomal number
of the structures 1 and 4?

Ge S (B rall
4 51 sl

Questions ( 55— 58):

What are the consequences of each of the following?

:(58 — 55 ) ¢ ALiady)
JS e 4 jiall guitill) L
Pkl

F%.

The acute deficiency of thyroxin
hormone in adults.

ﬁ‘

A pati - 55
CmS 5l (O 5a
ks Laii cpadlll 8




The absence of puling roots in
bulbs.

ALl )l e - 56
Jua¥ (1

Hypo-secretion of parathyroid
glands hormone.
(Hypoparathyroidism)

Dladl aasll () 5e

.4..\3)&

g

Triploidy (3n) in the humans
fertilized egg.




:(60 — 59 ) cpe AlindY)
¢ Al eVl pllad s

Questions ( 59— 60):

How to treat each of the following cases?

Aalac

Heard delivery
















